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1. (30%) FHfEEfFRELLT 45
(a) Cloud computing

(b) Database Management System
(c) IPv6

(d) Minimum Spanning Tree

(e) Router

(f) Deadlock

1. (10%) G F(customen) &R » GuEFELL T SQL 255 » A RHBITHESR

select customer _name
from customer
where customer _city like ©_on%’

customer._name| customer_steet | customer_city
Adams Spring Pittsfield
Brooks Senator Brooklyn
Curry North Rye
Glenn Sand Hill Woodside
Green Walnut Stamford
Hayes Main Harrison
Johnson Alma Palo Alto
Jones Main Harrison
Lindsay Park Pittsfield
Smith North Rye -
Turner Putnam Stamford )
Williams Nassau Princeton % 5 (customer) &) 75

2. (10%) F&HH THIEE IERER
(@) 2n’ + 5n=0O(n’) (b) 5Sn’*+n log n+ 10 = O(n?)

3. (15%) CPU scheduling deals with the problem of deciding which of the processes in
the ready queue is to be allocated the CPU. Please explain and compare the following
three scheduling algorithms.

B ~ SJF(shortest-job-first),
Z, ~ Priority scheduling

P9 ~ Round-robin scheduling
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4. (20%) #aE—EHS (15,20,12,2, 30, 8, 28, 4) - HAPSEBFFERE 1) B
HPFFPIRIEGESIRRE - A& left, right, i,j 88 SWAP #5R) -

;.
void quickSort (element a[], int left, int right)

{
int pivet, 1. i
element temp; -
if (left < right) { i
i = left; j = right+l;
pivot = alleft] .key;
do {
do i++; while(al[i].key < pivot);
do j--; while(a[]j].key > pivot);
if (i< j) swap(a[i], al[jl, temp);
Jwhile (i<j);:
SWAP( a[left], al[j]l, temp):
quickSort(a, left, j-1);
quickSort(a, j+1, right);
}
}
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5. (15%) Using the lay models in the following Figure, describe the ordering and

delivery of a pizza, indicating the interactions at each level.

Guests Pizza cook
Host Order clerk
Telephone Telephone

Telephone line

Guests Pizza cook
Host Order clerk
Delivery van Delivery van

Road
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